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- GROUP-A

1. Fillin the blanks. (all) [1x12
IR 9o @al (299)

(a) Long-run equilibrium of the industry is attained when LAC =

6A606RERLACS 62IR2lN, 6I6666R AERHIER
QEIRIR A3Re 98 62NN | |

(b) A firm gets supernormal profit when

__ 20106Q 909190 2QIRIRR QI s2IelN |

(c) The concept of eC’onomic efficiency was propounded by

26R00 990 QAR QAR |

TG,




[2]

(d) - Slope of PPC Sh,lQWS

QYR ARG 6 R QIR |

(e) Monopolistis a price

@RIFIR YESIR Q@R RN |

(f) The concept of Monopolistic competition was propounded by

%l 2RI gF6aIdel geae a5eleR |

(g) The outcome of a game in the form of gain or loss is known
as

AR @A G URINER 691G 699Q TRITH QUER
JAGR |

(h) Inan Oligopoly market, there are | sellers.

66N REUAINRIR FRINER IR 6! IS |

() gave model of Duopoly.

CQORIAI O] _ cQ@elem |

(j) A firm will shut down when

6N R YORR AR QRN |
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[3]

(k) Fora competitive firm P, =

6AITN 90QQ! g6V CIR P, = |

(1) is associated with partial equilibrium analysis.

2°de SRR 0] F6YRE AL A |

GROUP - B

2. Answer any eight of the following questions within two to three
sentences each. [2 %8

6I6@163 & g9Q AQQ JeAIas a@n @ G6QI6 QIRIER AR @ |

(a) What is market s:tru.cture ?
RN SO el @sl 7
(b) What is transfer earning 7
226 2 @6l ?
(c) What is production possibility frontier ? ‘o

QR ARSI 6l @4l ?

(d) What is Welfare economics ?
aauERIal 2RI @4 ?

(e) What is comparative advantage ?

Jo6LITRIRT ARG D61 ?




[4]

(f) What is price discrimination 7
QQ Qenaial @6l ?

(g) What doyou mean by excess capacity ?
2OUNG FF0I @M @€l QC ?

(h) What do you mean by technical barriers to entry for a mo-
nopoly firm ?

RRAIR gRTIe CiR 6590a JoRee @4 ?
(i) Whatis Zero-sum game ?
| @6QI-AA 6917 F61 7
() Whatis a_cartel ?
=Ysalal o 7

GROUP - C

3. .Answe.r any eight of the ‘fo.l'lo_win_g questions within 75 words each.
626@1ed CS gga BeQ JeSian 985 0 clkisa 999 99

b G [3x8
(a) Show shutdown point of a firm in 3 diagram.

6619 gaI90 QA 6291a & 6asIde dlvideq adidl |
(b) State the concept of economic rent.

26550 2rsas Bag, Q82 |

APB-KNJ-Sem-|V-23-Eco(C-8)/50




(9)

(h)

()

[5]
What is Producers’ Surplus ? Explain it.
SRHIOR AR QBT QPRI I FQ|
What do you mean by Pareto efficiency ?
AIEREST VS @Q6R K& Q¢ ?
What is Nash equilibrium ?
2l 4N @81 ?
What is dumping ? State the essential condition of dumping.
QA Q6?7 QA CIR AVNNID AR Qa7
State the Second Welfare Theorem with diagram.
CRHIOR A2 QYOI SRYIE 0 Q&I |
What is monopoly power ? How will it be measured ?
NERIFIS 48 @417 2] IR QN ?
What is Edgeworth Box diagram ?
R0 9@ @INgIF| K6l 2
Whatis natural monopoly ? Give example of natural monopoly.

dI90a NARIPIR 947 IR NSRFINS Aaead @ |

MO}




4. Answer any four of the following questions with

GROUP - D

in 500 words each.

cA6RIEd ¥E g Q@R 6L, 200G d8 kIR IR @9 |

(@)

(d)

Explain the equilibrium of the firm and industry under perfect
competition in the short run as well as in the long run. [7

gd gosaItioea qawla G QARIN6R golI? 6 RET! 8R4
Zegl QY @9 |

What is Pareto Optimality ? State the conditions of Pareto
Optimality. [7
NER6S! ZEEFIRG @4l ? CHIcase] AFFIRGa QIR @4l

Define monopoly. Show diagrammatically how allocative in-
efficiency under monopoly implies a dead weight loss. [/

RRIFIR <R AR F| NRRIFIQ SF6LIG 2AFTG! FIA
Rdie 86 IO, Sl 6aHITR6R Q€ |

Discuss how price and output isrdetermined under monopo-
listic competition. [7

RRIAINN JECRINRIER RER Q@ 8 TRelsl Felae c2RalN
2RISR KR |

Explain various concepts used in game theory. [7

66IF| ORER RURYE FRQ ZRURSE! QU Q|
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[7]

(f) What is Pure competition ? Discuss the supply decision of a
competitive form and its exceptions. [7

e gA6QISol 961 7 9EqR1 9EIIRG saIslel dais 1a” Q1o
CRISRISRIARL
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GROUP — A

1. Fillin the blanks by choosing correct answer given in the brackets
and answer all questions. [l 12

QERFER QULRNYF A0R, QAR CUR @] FIRN YRIGE IS IR
Qe deig dYa 2eQ 9 |

——r -

(a) Which of the following is not a limitation of Solow model ?
(Substitutability between labour and capital /
Homogeneous capital)

QIRNGO FRIQ) 62RS 6ACA ACEAR AR Q6L ?
(961 6 g8 RIEQ YRR | ARSI 9)

(b) Production function is in Solow model.
(Discontinuous / Continuous)

CAEME PRER AURR TRR
(G099 | 2530aq)

RT.Q.



[2]

(¢) Which of the following is an appropriate technology for deve.
lopment ?

(Capital intensive / Intermediate technology)

UeRER GRl9 aosais 6o9de @io |
(U@ 98 Ges 0ad /| ArIa 65ade o)

(d) There are basic accounts of Balance of Pay-
ments.
(One / Two)
 USKIGIE 699 A3RREQ dRIQ 2ae 2 |
(e / 9Q)
(e) One sided Payments are considered items.
(Positive / Negative)
NS dIfR 692 IR QIR IR FQULIN |
(d2BIQR /| Q41Qe)
(f) Balance of Trade is concerned with items.
(Only visible / Only invisible)
2IBRIo10 Qd4Ea caan 2R6A ALY |

(6997 QAR | 6Q9@ cQIMAR)

(g) Demand for foreign exchange comes from -
(NRI deposits / Payment for the import of goods)

696249q Faia o@al Q 98 sQlQa|
(N1 GFES 698l / ¢ 2RTR ARG
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(h) Foreign exchange generally refers to

(k)

(1)

[3]

(Foreign goods / Foreign currency)

ARIQEIGE 6REQER FREIR Q@ QeIREIN |
(696Q4R QQl | Q64 QQY)

Net capital outflow is a function of
(World interest rate / Domestic interest rate)

Q% Y2 QA gl Q DRR US|
(QF RIFIR | VAR QR 2AR)

The equality between GDP and gives macroeco-
nomic equilibrium point.
(Price level / Demand)

6ClIS AR QYR ABS A7 626R AR 216
ARG 39 A@ald|
(@2 9a [ QI2Ql)

The views of Keynes are based on
(First World War / Great depression)

cRRdE 710 QTEQ ZRIAG |
(g2e @498 | 920 Akl 29l

Monetarism attaches greater importance to :
(Monetary Policy / Fiscal Policy)

AR @ 2R G0 camelN |
(ARG | FAaIm ARG)

RT.Q.
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[5]
(g) Whatis GDP gap ?
6AI6 QEAIR QAR QI Kl ?
(h) State the objective of Fiscal Policy.

. QRE Q109 A Q8RS /9




[6]

| T Vi (c) State -d{.iffé'r‘ejht types of technology.
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[ 7

GROUP - D

4. Answer any four of the following questions within 500 words each.

£96RIEd ¥ & gga @ J60Uaq 800G 4 AIER gale 94|

(@) Explain the Solow Model with population growth. [7
CUENIS O @RI @5‘ 2o 92 MY @ |

(b) “Balance of Payment is always balanced.” Explain. [7
“Ag70 69694 €98 ASQl AgRe 1”7 Mg @q |

(c) | E’xplai.h the short-term model of a large open economy. [7

GGIIG'\’I Q@@ ?l@ ZI&Q‘IQ‘QIQ daaie @6} NI PR |
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[2]

(d) Motivation research is an important type of re-
A search.

CURE G6RTE S8R IR JRQDs dRInsna |

|

(e) Desire to gét respectability iSi in research.

'
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[3]

ARQE 69R1 6AT@ @ FIERICARIFR FERSIER

Ne96 29|

To test a hypothesis of a causal relationship between vari-
ables is an ‘ of research.

SRAIRE FRIER R FEITIE ARRR 69ITN JRRERIR UK
Q] VCTENR i

Likert's summated scale isan ___ ¥

Al |

A g
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e

g9 f:ﬂt 5@@@ Sllalls




- i

"'(b) What is a research problem 7

. Geesdla IR @817 .

(c) Whatis exploratory research ?

QEAIRRIa! G628l 94 ?

.15 ¥
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[6]
(f)y Write down the sources of error in measurement.
ahicles 96a aagea ems|
(g) Howis library helpful in the process of literature review ?

G08 QIesa GRS gIdeTa QR6Y YLAILERR? LSS
QIQIEZG? GQI@?JI\'] 7

(h) Mentlon the key prmCIples of partlc:lpatory research.

“rteiﬂog NS

<€;@ﬂﬁm"‘l@i

Vd f N/ NAar
NJ=oeIMm-lV=-£a-=(




L)

«ploratory research design ? Explain its various

2 ry'-ls UNI'QI 'm %‘
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 GROUP-A

ilin i) "

e |

\



G120 GAFISIEa 62286 Ghaga.
shape,
RN RS DRI |
shape.
_ UL IS @GN |

elastic.

. elastic.

gogiam |

_from left to right.

a

e ) “*ﬁ*

fis
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[3]

() The shape of average revenue curve of a competitive firm is

JasQIsl alIda AR el RN Sole
CRININ |

GROUP - B

Answer any eight of the following questions within two to three
sentences each. [2%x8

668D [ 990 QAR Y601Re R @ F6RIT FRIER 9Ie 2|
(a) Write first two principles of Economics.
28I geiel 9m 6816 916 6nd |
(b) Why economists disagree ?
IGINAIRE FRIER ARy QIDE 2l ?
(c) Write two factors affecting elasticity of demand.
Q290 do9Ida0e JRIGe @92l 9AF QUIR end |
(d) Write two properties of indifference curves.
U 22609 208 NS SRS |
(e) Whatis Budget constraint 7

QE@o AICl @6l 7

RT.Q.



b (’f) What i-smdgét ine?

@e@@ eaal @a 1
Relétf'ané hi |p betWééh AC and M C
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;da@qg _(3 qml@ ,aa@qg cRISE 1T
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[5]
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1 (a)

(b)

(c)

(d)

(€)

(f)

P—-——-—-——

[6]

Shift in demand curve

oi6al cagla g €feeR

GROUP - D

4. Answer any four of the following questions within 500 words each.
caeTNad ¥6 gga Qaa gesiag 006 @R ISR Jale @4l

=
[

Explain Ten principles of economics. [
2geien 96 66Rea1d 9dal aall

Explain equillibrium of firm through MR and MC. [7
QRIS 28 6 QiFle af9is QFsa TR AR AR @3
What is peﬁeot oompefition ? What are its features ? [7
gd goegItiol 8817 @ QRIeR AAEPER @dl ?

Describe the factors affecting labour demand. [7
g0l SI29IR IRIGE K929l AURYER Q4RI K|

Explain the Ricardian theory of Rent. [7
QRICRIE 26N 0] Q4RI /9l

Explain the role of Assumptions in economics. [7

2Ee1960 dalane 9fiel edal el

APB-KNJ-Sem-IV-23-Eco(GE-B2)/50
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[7]

(g) Price effect is the sum of income and substitution effect. Ex-

plain with diagram. [7

QI gRIQ 6298 2B dae 6 gogie dalea dgel 6@ ;
IR @47 Q|
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